
INSTALLATION INSTRUCTIONS
DRAWER MOUNTING KIT PART # 078 FOR USE WITH PART # 021 OR # 130

Please read and fill out the enclosed warranty registration card to activate your warranty.

TOOLS NEEDED

 (2) 5/8” WRENCHES OR WRENCH, SOCKET, RATCHET, AND EXTENSION
 9/16 WRENCH OR SOCKET, RATCHET, AND EXTENSION
 13 MM SOCKET, RATCHET, AND EXTENSION
 ½” WRENCH OR SOCKET AND RATCHET
 T-50 TORX WRENCH OR SOCKET

PARTS LIST

          
        Drawer Enclosure Drawer      (2) Front brackets (2) Rear brackets

SHIPPING PACKAGE

               
(9) 7/16 X 1 ¼” BOLT (4) 3/8 X 5/8” BOLTS (4) 5/16 X 5/8” BOLTS

                                                   

(9) 7/16 NYLOCK NUTS        (18) 7/16” WASHERS     (4) 3/8” WASHERS   (4) 5/16” WASHERS (26) ½” HOLE PLUGS

MOUNTING INSTRUCTIONS

NOTE: BE SURE TO KEEP ALL THE REMOVED HARDWARE YOU WILL REUSE MOST OF IT

1. Please read the entire assembly instructions and check all included parts before beginning the installation.

2. Remove the back seat from the mounting brackets.

3. Remove the (4) original seat mounting brackets, there are (8) bolts.  BE SURE TO NOTE THE DIRECTION THE
SEAT BRACKETS ARE FACING BEFORE REMOVING THEM.

4. Remove the seat belt harness located in the center of the floor.

5. Mount the (2) provided Front mounting brackets to the floor on the right and left side with the original seat bracket
mounting bolts. (See Figure 1, Step 1)

For office use only
 Shipping Package
 Warranty Card
 (2) Front mounting brackets
 (2) Rear mounting brackets
 Assembly Instructions

Checked by ______



6. Mount the (2) provided Rear mounting brackets to the floor on the right and left side with the original seat mounting
bolts. (See Figure 1, Step 2)

7. Remove the drawer from the drawer enclosure.  Press the black tab on the right drawer slide down and pull the black
tab on the left drawer slide up to remove the drawer.

8. Mount the original front (2) seat brackets to the top of the drawer using (4) 7/16 x 1 ¼” Bolts, (4) 7/16 Nylock Nuts,
and (8) 7/16” Washers. (See Figure 2)

9. Place the drawer enclosure into the vehicle opening toward the rear of the vehicle.

10. Bolt the drawer enclosure to the Left and Right front mounting brackets using (4) 5/16 x 5/8” Bolts and (4) 5/16”
Washers. (See Figure 3, Step 1)

11. Bolt the drawer enclosure to the Left and Right Rear mounting brackets using (4) 3/8 x 5/8” Bolts and (4) 3/8”
Washers. (See Figure 3, Step 2)

12. Install (2) of the ½” holes plugs in the holes which will be partly covered by the (2) original rear seat brackets.  Mount
the original rear (2) seat brackets to the top of the drawer using (4) 7/16 x 1 ¼” Bolts, (4) 7/16 Nylock Nuts, and (8)
7/16” Washers.  (See Figure 4)

13. Fasten the original seat belt harness assembly to the drawer enclosure angle bracket with (1) 7/16 x 1 1/4” Bolt, (1)
7/16 Nylock Nut, and (2) 7/16” Washers.  (See Figure 3, Step 3)  NOTE: Drawer Part # 021 is shown in illustration;
in drawer Part # 130 this hole is located toward the center of the enclosure.

14. Install the ½” hole plugs into all the ½” round holes not used.

15. Insert the drawer into the drawer enclosure and check the slide operation and lock operation.

FIGURE 1



FIGURE 2
Drawer Part # 021 shown, On Drawer Part # 130 some hole locations are different.  See notes in instructions.

FIGURE 3
Drawer Part # 021 shown, On Drawer Part # 130 some hole locations are different.  See notes in instructions.

FIGURE 4
Drawer Part # 021 shown, On Drawer Part # 130 some hole locations are different.  See notes in instructions.

For Technical Support Call 970-564-1783


	INSTALLATION INSTRUCTIONS
	DRAWER MOUNTING KIT PART # 078 FOR USE WITH PART # 021 OR # 
	TOOLS NEEDED
	PARTS LIST
	SHIPPING PACKAGE

	MOUNTING INSTRUCTIONS
	NOTE: BE SURE TO KEEP ALL THE REMOVED HARDWARE YOU WILL REUS


	For Technical Support Call 970-564-1783


